Cuisenaire Problem
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1.) Letthe orange rod (or strip) represent one whole; ) is represented by one of two pieces of the same

length that compose the whole. Find two rods of the same color that, when place end to end, have the
same length as the orange rod.

- orange «
yellow | yellow

2.) Now let the dark green rod be the whole. Which color represents each of the following fractions?
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6.) If light green is: (fill in the color of the correct rod)

Y %, the whole is b) 1and %, the whole is e
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c) 7,the wholeis ___“jei— d) Z,the whole is
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Did you find that some problems were impossible? Which ones? Why? What could be done to answer
the questions?




